‘\gj\ "{F‘)ER MEDITE EXAM
ER-6 B
FINANCHAL MANAGEVENT & SCP2(H) }2 4 MAY Lusd

STRATEGIC MANAGEMENT

ROIINO: . 5008w e e dasnas
Total No. of Questions — 8
Total No. of Printed Pages — 24 Maximum Marks — 70

A=

gn

10.

11.

GENERAL INSTRUCTIONS TO CANDIDATES
The question paper comprises two parts, Part-I and Part-IL.
Part-I comprises Multiple Choice Questions (MCQs).
Part-II comprises questlons which require descriptive answers.
Ensure that you receive the question paper relating to both the parts. If you have not
received both, bring it to the notice of the invigilator.
Answers to MCQs in Part-I are to be marked on the OMR answer sheet as given
on the cover page of descriptive answer book of Section-A only. Answers to questions
in Part-II are to be written in the respective descriptive answer book. Answers to

'MCQs, if written inside the descriptive answer book will not be evaluated.

OMR answer sheet given on the cover page of descriptive answer book will be in
English only for all candidates, including for Hindi medium candidates.

The bar coded sticker provided in the attendance register, is to be affixed only on
the descriptive answer book.

You will be allowed to leave the examination hall only after the conclusion of the exam. If
you have completed the paper before time, remain in your seat till the conclusion of the
exam.

Duration of the examination is 3 hours. You will be required to submit the descriptive
answer books with OMR cover page to the invigilator before leaving the exam hall,
after the conclusion of the exam.

The invigilator will give you acknowledgement on Page 2 of the admit card, upon
receipt of the descriptive answer books of Sections A and B.

Candidate found copying or receiving or giving any help or defying instructions of the

invigilators or having / using mobile phone or smart watch will be expelled from the

examination and will also be liable for further punitive action.

_4.

PART -1 70 Marks

Section — A : Question paper comprises 4 questions (1 to 4). Answer Question No. 1
which is compulsory and any 2 out of the remaining 3 questions.

Section — B : Question paper comprises 4 questions (5 to 8). Answer Question No. §
which is compulsery and any 2 out of the remaining 3 questions.

Answers to the questions are to be given only in English except in the case of
candidates who have opted for Hindi Medium. If a candidate has not opted for Hindi
Medium, his/her answers in Hindi will not be evaluated.

Working notes should be part of the respective answers.
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PART - II
SECTION - A

1. (a) The following information is available for S Ltd. for the year ended 5
315t March, 2025 : 4

Raw Material consumed 20% of COGS
Raw Material Inventory turnover ratio 4.00

Finished Goods Inventory holding period 0.75 month
Gross profit (based on COGS) 12.50%

Debtor collection period (all sales are credit sales) | 3 months

Proprietary ratio 0.3125
| Fixed Assets turnover ratio (based on sales) 3.00
Fixed Assets to Total Assets 40%

You are required to prepare a Balance Sheet as on 31* March, 2025 in the
following format :

Liabilities 3 Assets 3

Shareholders’ Fund Fixed Assets 12,00,000

(assume no Preference |
Shares)

Long-term Debt 15,00,000 | Stock of Raw Material il
Current Liabilities Stock of Finished Goods |

Debtors
) Cash
- Total  Total

SCP2(H)
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(b) Y Ltd. produces energy drinks in different flavours. Due to high demand 2+1+2
. =5 |

of its product, the rate of return on its earnings is 25%. Currently, the '
company retains 60% of its earnings and distributes the rest. The current

P/E ratio is 8 and earnings per share is ¥ 10.
According to Gordon’s Model :

- (i) What will be retention ratio if the company wants to maintain its
P/E ratio to 12 in current year, given that the expected rate of return

for an investor is 20% ?

(i) What will be the expected price per share after one year if Y Ltd.

achieves above-mentioned targeted P/E ratio ?

(iii) Will there be any change in retention ratio if the company wants to
maintain its P/E ratio to 10 in current year, given that the expected

rate of return for an investor is 17.50% ?

(c) Following information relates to A Ltd. for the year ended 31% March, 2+1+

2=5
2025:
Profit volume ratio 24%
Operating leverage 2.00
Financial leverage 1.50
Interest Expenses 312,000
Tax rate 30%
N Number of Equity Shares 1,000

SCP2(H) P.T.O.
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You are required to :

(1) Prepare Income Statement for the year ended 31% March, 2025.

(i) Calculate EPS.

(iii) Calculate percentage change in earnings per share, if sales increase

by 5%.

Capital structure of B Ltd. for the year ended 31% March, 2025 are as 1+2+

follows :
Particulars Amount })
Equity share capital @ ¥ 10 each 14,00,000
10% Preference share capital @ ¥ 1,000 each 10,00,000
Debenture @ T 100 each 9,60,000
Bank Loan 6,40,000

e  Risk-free rate of return is 14%, Market rate of return is 19% and

beta of company is 1.20.

o 10% Preference shares are redeemable at T 1,065.40 after 3 years.
e Interest on bank loan is 1.30 times of interest on debentures.

e  Debentures are redeemable at par after 5 years. Floatation cost is ¥ 4

per debenture.
e  Taxrate is 30%.

e  Cost of capital is 14%.

SCP2(H)
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You are required to calculate the following :

(i) Cost of Equity.

(i) Cost of preference share using YTM method.

(iii) Post-tax cost of debenture using approximation method.
(iv) Interest rate of bank loan.

PV factors @ 10% and 14%

Year 1 2 3 4

PVIF) o, [0.909 [0.826 |0.751 |0.683

PVIF,, . [0.877 |0.769 |0.675 |0.592

(b) Following details are related to H Ltd. : 2
EPS ¥3.00
Return on investment 20%
Cost of equity 15%

As per Walter’s Model, what would be the maximum and minimum price

of share ?

SCP2(H) : P.T.O.
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3.  (a) Following data are given for a capital project : 1+1+1+
1+2=6

Annual iﬁterim cash inflows for first two years | ¥ 1,00,000

Annual interim cash inflows for next two years | ¥ 80,000

Useful life 4 Years
Salvage value at end of tile project 350,000
Internal rate of return 12%
Cost of capital | 10%

You are required to calculate the following :

(1) Initial investment

(ii) Net present value

(iii) Profitability Index

(iv) Discounted payback period

(v) MIRR

SCP2(H)
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Year 1 2 3 4
PVIF g9, ¢ 0.917 0.842 0.772 0.708
PVIF; 10,1 0.909 0.826 0.751 0.683
PVIF; 11 ¢ 0.901 0.812 0.731 0.659
PVIFj 15, ¢ 0.893 0.797 0.712 0.636
FVIF 10, 1.100 1.210 1.331 1.464
FVIFj 15 ¢ 1.120 1.254 1.405 1.574

Z Ltd. is an unlevered company. It wants to repurchase its equity shares

of ¥ 300 lakhs by issue of 12% debentures of same amount. Current

market value of Z Ltd. is ¥ 1,400 lakhs. Its cost of capital is 18%. The

company will maintain same level of EBIT in future years. Dividend pay-

out ratio is 100%. Company pays tax at a rate of 30%.

As per Modigliani and Miller approach, due to such change in capital

structure, what will be impact on the following ?

(i) Market Value of Z Ltd.
(ii) Overall cost of capital

(iii)‘ Cost of equity

SCP2(H)
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What is agency cost and what are its types ? How can a company

minimize agency cost and align the interest of manager and shareholder ?
What are key features of bridge financing ?

What is hierarchy of financing under ‘Pecking Order’ theory, and why

does it exist ?
OR

“The total risk of any business is the combination of degree of operating
and financial risk”. In the light of the above statement, you are required
to consider the first two columns of the given table and give your

comments in the 3™ column.

Your comments should depict the total risk profile by using the most

appropriate amongst the following three words only :
Lower, Higher and Moderate.

Also select the best combination of DOL and DFL from the given table.

DOL DFL Comments
Low High
High Low
High High

SCP2(H)
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SECTION - B

(a) SemiCon Pvt. Ltd. (SPL) is engaged in manufacturing of semiconductors 1+1+

from the year 2024. Company wants to start a strategic path to be followed
in future so as to build best quality semiconductor and display design with
innovative ecosystem to enable India’s emergence as a global hub for
electronics manufacturing in a more structured manner. Placing core
values as its priority, it would like to clearly articulate its aspirations to the

stakeholders with a guiding beacon to keep inspiring its workforce.

Identify and explain one of the components of strategic intent which will help
indicate towards above stated intentions. Why such component is important

for a successful organization ? Also state the essentials of such component.

In addition to new market opportunities and change in customer
preferences, as a known fact, technology is also changing very fast. In
view of the same, ‘Twaran’, having a small and mid-sized business wants
to use latest digital technologies for improved procedures and products.
The primary aim of the firm is to have a competitive edge in the evolving
business landscape by digital transformation. The entity would like to
deal with regular changes firmly, along with transforming its

management techniques.

Identify the strategy required for digital transformation. Also state the

most preferred practices to be followed by the entity.

SCP2(H) P.T.O.
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(¢) MaAi is a prominent group of companies. Currently it has businesses 1+1+

(a)

named Alpha, Bravo, Charlie and Delta. In year 2020, the company had
acquired a business dealing in product ‘Nota’. In evaluating the
contribution to its portfolio, it was observed that product ‘Nota’, is not
contributing as it was expected rather causing a financial duress. After
identifying apparent problem area, in the year 2023, an emphasis was
placed on change in management and improvement in internal
efficiency. However, on further evaluation in the year 2024, it was
observed that even after due emphasis, positive outcome is not there and
in-turn the company decided to get rid-of the business related to product

“‘Nota’.

Identify the retrenchment strategies followed by the company for product
‘Nota’ (i) in the year 2023 (ii) in the year 2024. Also state various
reasons to adopt the strategy by any organization, as followed in the year

2024 for product ‘Nota’.

3=5

Explain the importance of values, as one of the components of strategic 3+1+

intent for a company. What are the common examples of values ? How

values are different from intent ?

SCP2(H)
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In order to get better performance and sustainable competitive 5
advantages, a company has to focus on the characteristics of its resources
and capabilities. In view of this, explain the major characteristics of

resources and capabilities.

What do you mean by value chain analysis ? Delineate the support 1+4

activities in value chain analysis, as stated by Michael Porter.

Explain differentiation strategy as one of the generic strategies by 1+2+
2=5§
Michael Porter. What are the major bases of differentiation ? Also outline

the strategies which can help achieve the differentiation strategy.

What do you mean by Key Success Factors (KSF) ? Structure the 1+2+
2=5
questions, answer to which can help identify KSFs of a company. Also

state, as to how the understanding can help ascertain sustainable

competitive advantages.

Explain in brief the expansion strategy as one of the corporate strategy. 1+4
=5

Also state the characteristics of expansion strategy.

OR

SCP2(H) P.T.O.
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(b) “A manager as a strategic leader has to play many leadership roles”, 1+4

while explaining the statement in brief, delineate the leadership roles

which a manager has to play in pushing for a good strategy execution.

SCP2(H)
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T - 11
SECTION - A
(Hindi Version)
1. (a) @wifer a¥ 31 Wi, 2025 % fou s fafies & fau fefafes gead 5
YT & :
F= [T BT YA COGS T 20%
HA A I T HRIR (SHINET) I 4.00
QAR AT T Th R TS 0.75 9§
Ghed AN (COGS W T 12.50%
e <ht wrewt Jrafy (e foshl @ (3wm) fsht ) | 378
) Qfied U 0.3125
\.\ woreft ety RIS (SHafier) Figura (ke = ami) | 3.00
| For wrafol o st weafEt 40%
3naeht Freferfaa s o 31 7, 2025 i I faggr ST 2 -
HILG ? et 3
IMUTH  w GA wreft gt 12,00,000
(ARMA AW nfda
&)
SefepTefI= 0T 15,00,000 | = HTSA 1 &hrel
LGB QIR 9T 1 &Y
e
Uhsg
E3 A
SCP2(H) P.T.O.
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b)Y fafiee faf wag & St 3 wereit o Ieaed Ul @ | e e <t 2414
I Wi % RO, THA! 3T W ARAEA B R 25% 2 | TAAH A HEAL )
ST AT FT 60% TuTia Hd & qun A9 faaka FA 8 | ad9H P/E
FTITA 8 & A W HA AL 108 |
e Hise o FTER :

@ fe T e o HEE) 19X P/E SFIAT i 12 W SHTE T&HT <TEd! 8
< Rt ST e g, T e @ 26w frames % T st
i FI W 20% B ? |

(ii) wh ¥ % T WR 3 %1 Ik qo w@n g At Y fafies
U ISR P/E FHAT T T At @ 2

(iii) T SR ST § 1§ ARedd B e HEE aaae a9 I
P/E STUT F1 10 T ST T@H1 =edh 2, foam e @ 7 o e
¥ e snifera wiwet F g 17.50% 2 ?

() @I = 31 7, 2025 % Riw A fifies & v g fe ser 3 2
g:

AT HTAT ST 24%
TRt ST 2.00
forfta < 1.50
S & 12,000
HL T 30%
| it 61 wE 1,000

=

SCP2(H)




(15)

| SCP2(H)
! T TR B :
i G) e 31 9, 2025 % foTw e fereor sm3T |
(i) EPS % TUHT I |
l (i) e foshT 5% w¢ Sran ], @ Wi 31w o § gferra aftads 6t womn
<HIT |
2. (2) WHIS 9N 31 AT, 2025 % foe B fafiee i 4sft s Fra ypr @ € - 142+
v @ %
X 10 W3 hl oam i Yot 14,00,000
| X 1,000 S <hl 10% TR 7w oft 10,00,000
% 100 Y o FUTTH 9,60,000
| e R0 6,40,000
| o Sign-tfEa gfower Y G 14% B, ST9K gfdwar A & 19% B qen
FHPft BT e 1.20 B |

o 10% MMM 373 3 T & ¥ < 1,065.40 WIANGHF 2 |
o I U W TS RO W SIS T 1.30 O R |

o RUIYH 5 NI % TYET EHTT W MY & | T 4 6 A0 R 4
fer U 2 |

o HLA30%2 |
ot < T 14% 2 |

SCP2(H) P.T.O.
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SR Ry 6 o1 HET STERE 8 -

() e (3R AT

(ii) vTM Rt &1 STV ) g AT 3 Ht AT

(iii) aﬁmﬁﬁwwm@m-mwﬁm
(iv) SR T i S

10% W& 14% %1 PV BRH

a9 1 2 3 4

PVIF, o, |0.909 |0.826 |0751 |0.683

PVIF, 4, |0.877 |0.769 |0.675 |0.592

|

ferfifga geeTd 1 Rifiees @ wafRa 2
==
EPS %3.00
foar W wferset 20%

gt (3fRd) 6 ar 15%

et S ST b SHTER, 3 H Sifrran T§ =Ta e F 1 N ?

SCP2(H)
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3. (a) O ot afEe % fer e srfes fem e g s

;maaﬁ%%qam 3iafm Fehd) Fqats | T 1,00,000
3T Q1 Nt o foAq anfifer iafm Ted) Jiqais | T 80,000
EXRIUIISICE] 49
RIS % 311 | STafE qo % 50,000
N < SATAND 12%
it <t T 10%
e Frefarfaa Y AT S R
() YRR faw
(if) Y& T e
(iii) TTSIGAT ShiH

(iv) Tt 9-d Aaf

(v) MIRR

SCP2(H) P.T.O.
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a9 1 2 3 4

PVIFo00, | 0917 | 0842 | 0772 | 0.708

PVIF, 0 | 0909 | 0826 '| 0751 | 0.683

PVIF,,, .| 0901 | 0812 | 0731 | 0659

PVIF, .., | 0893 | 0797 | 0712 | 0636

FVIF 0. | 1.100 | 1210 | 1331 | 1464

FVIF, ¢ | 1120 | 1254 | 1405 | 1.574

(b) z%ﬁhwﬁm@ﬂ%&noom%aﬁmaﬁﬁﬁ
wm%lz%wmﬂmgﬁammﬁ%mﬁaﬁ%w
WWW?MOOW%JW@ﬁWB%%IW
ST ST T T 9 EBIT W Tt | SR A 3T 100%
2 | st 30%% <t G & U T A HL! € |
ﬁaf%m@ﬁataqamm%agw,isﬁmﬁwvﬂaﬁ?%
perearey, FrEfiRad o T ue ?

() 2z Tefies s e
(i) 9Sf <t e AT
(i) e () 6T
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4 © TS AT 1 & T $6h SR 1§ 7 T HRH) Toel! AT Y e 4
‘ AT e T AU % Tl 1 o9 H8 T qehell § 2
(b) T w3a hi g fordivamd wn € 2 4
() Ul AT Rrgura & sl e T FR e WA i e R 2

YT

(c) “TorHlt =TIR 1 F Sifaw aiETem 3 ey St S F oo | 2
it =t 8 17 SR %R % b H, IR @ T anfere  ved @
it T =M T 8 o iR e # areeht eoaforet &+ & |

; Ikt fewrfort & FrferRaa haet i =l & & wafaw #1 s@ H@

| BUH IIRGH 1 I=F S |

= I

=, 3=, nem

=1 arfetest @ DOL @1 DFL % Hataw §a1s &1 a9 i S g -

’ DOL DFL Rufort
= 3=
3= =
P 3= 3=
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SECTION - B

5 (a) ﬁnﬁashm.i%f.aﬁzomﬁ@tﬁfmazﬁ%ﬁﬁﬁwﬁéaw%lm 1+1+
i 3 @ Tl A ST e 2, e e TR dy
(ecosystem) % Y qatam NUEkI T Frfihgaey IR feer %Trl'l?ﬁ
(Display Design)ﬁlﬁﬂfﬂ%mmﬂ%, qTfeh WA Ffer wtfed als @
sﬁﬁﬁwﬁﬁm%mmmﬁa%mﬁw%lmq\aﬁ .
ﬁmmm@,%m%ﬁwﬁsw&?mmﬁ
aﬁmmﬁmmm,aﬁaﬁmmﬁﬁﬁﬁam@%
foTe wmiestes e (yp-ww) wem w s |
wﬁﬁmﬁm%w@maﬁuﬁﬁaﬂtwaﬁwaﬁhﬁ%mﬁ
ﬁﬁtéﬁamﬁmmwﬁlwméﬂm%m%m
Hit wEcqyl € 7 T @ 9 oo i st H it |

P

) @mm%mﬁ,mﬁﬁaﬂwﬁﬁmﬁqaﬁtwmm 1+4
%ﬂﬁfﬁ?ﬁ,mﬁ(technology)?ﬂagﬂaﬁﬁﬁwtﬁ% | 3t < aEd,
TR TH Y IR AW AR H Hr), Tehiam e St
(Digital Technology)aﬁﬂﬂﬁ@mﬁwa?%lqwmm
® | St B rufhes we, Refies wuiq (digital transformation) % gRT
forramr ST v 3 shwes wgd s HE @ | den s
Waﬁﬁﬁaﬁmﬂg,ﬁwﬁawﬁaﬁ%mw@mﬁm
aEd 2 |
fefrest waieror (digital transformation) < foTT 3tTerweres WRARY 1 ve=ry |
qsmﬁnémﬂﬁ%ua‘m%mﬁwﬁéwammaﬁmm
QT 96E Y 9 ared) Sryunfert (most preferred practices) i oft
g | .
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(©) TR (MaAi) Th FTHI-AH Hrf &1 g § | adwE § 36w IEHT, 1414

(2)

sial, SITefl O St W % R § | A 2020 F w0 3 3@ DA F
FNR 6 I TF a1 AR Re | s SewheE
@oﬂfolio)%@iﬁﬁ%é@w%mwﬁ%m%m
AT’ ATER T & @ R o O Tl gare der s @ € ) 2023
TIE &Y § FHE1 I T b TS, YeuT § aRads 3 stk ae
B G S e T | e, o 2024 3 S o gewiE w3 W g
@1 T 5 5 YR @ SR 83 % w1e ot wehrrenes witom 7 o @ ¥ sk
mmm‘m’ﬁmwﬁmﬁwwﬁw
favfa & foram |

I7TE A 5 7w (i) o 2023 F wa (i) a9 2024 F SRR T S
W 1 Tg= | Newe Aer % e ad 2024 F SToRR T OEIR %
3T, foreht weem grr e wRify s % R SR ) YEifes
B |

3=5

T HM % T Heh F w0 A T wo F R0 5o B wwwr B g

THAET | Gedl & WIS 3T 1§ 7w e & et aik www §
g

1=5
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T §9 ¥ 3728 We¥H U Ifeequicass av A R—Ean a0 % 5

e o ot = wEmeEl v amaneit 6 Rl W em v dar R |
79 g & FETeHl U gwaret < e fadwaiad @ anene |

Tl JE faTeuw & STTUHT FT A B 7 WTEeheT GIST g waTs W 1+4
e @t vy < sidia qare nfafaftr ) aand |

=5

WIS X ot T WHIfrRT 3 Th ST b &9 8 qYerhior WHIT 1;3;

FHATEY | YR & T SMYR R & 7 91 &, 39 WA % ar §
ford < qererentor Torife ST S # TR 8w R |

T |heTal BRI (KSF) & 3maeh 1 AR 2 ?muﬁwﬁquz;
SR R IO T T ST (KSF) I 789 B0 3§ q8a® &
% § | Ty & 98 oft fod o6 fohe SR Y@ e wReT ) an,

wioeasteres @ it ferar 1 giifeaa @ o ggrs 8 awd @ ?

forer e 1 wiaRe wFifa % @ TR % w9 3 989 3§ gasmse | 9 1:
& forear worifa it fersiwand off sramgw |

HAYAT
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(b) “Th TEYE P Th WA Nl o &9 § srga ardt yfrenrd Rerrh e €, b

30 fyatr %) 989 § auEd §U, T YEYs gl T<s! WHIld TR

%! AT 5 o FoA s S aredt syfrentat @6t o |
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SCP2(H) | s
Ui SR %
| Tl T <l TS - 8 ;
HA IS - 24 Afhaw 3®H — 70
} swaffat & fog s ey
UE-9 & S AW §, Part-1 3K Part-II.
Part-1 # Sgfaseda w1 (MCQs) % |

Part-II % auiTcHe TR % IR H e a v € |

giifeaa #¢ f QA1 amt @ Gl v\ -u=7 R W fear @ | Al s QA wwr s

| i R € @ Fles & am 3 9 )

‘ 5. PartI¥% MCQs ¥ ¥ S 349 OMR TR-99 R fufee 7 & S s avirees sw-gfem
¥ (WT-31) Jor I8 R a1 7@ § | Part-I1 % 7T ¥ SW vl swe-gfers # forew € |
TRy T ¥ ISR v SwR-gfRE ¥ s foran W S wie @ g |

:‘| 6. Vomw-w,sﬁﬁﬁaﬂhmw-gﬁm%g@qamﬁmwﬁlmﬁawﬁfﬁ%

" fog, féh mem & safat afeq, e sEsh & 2w |

! 7. Sufafiy vofias ¥ AT AR He W AU FHR STR-GRE R S S |

| 8. it St Wy % qeeTq & AT when wE Bied f aE enft | aft s wwE A

nl IR of o foram & A of when i wfer a9 sur o We W E ST R |

| 9. Wign & sEfy 3 62 } | Iy e i g F IwEG Wew F& Bien & @ Fldww

! N JUATHS ITRI ATelt IR-YETH OMR J&r I8 wfed ST I AEEH ¢ |

| 10. Seg gffa Tl fit Wi w, Fhgs Ry-= F 98 2 | afrEigia ggm |

I 11. el e Fxa a1 et weR 6t geEar @ @ ww w=a a1 Frdew & fea f osemn

KA AL MATEA B T AE a1 A /STEM S I T, A wem @ e )

e stem ok Ta& sfafem Serre wEard F foag ot Rt B |

‘ WA - 11 70 3H
1. Section-A T 1-4 ¥ 8 | I3 T 1 Afard & o 9w 3 wyAi F 4 f5l 2 _T I R |
| 2. Section-B # 5-8 Yo & | Y9 GEAT 5 HATNal 8 721 99 3 Wy 8 § foRE 2 wT I R |
‘ 3. 39 v Y Srgw e Rt weam g 2, TR o I et st A € o € | 97 gt
. o Ty mmeam =t g 2, afe e o owR 2 R, o Suss faed 3 i s o et
il :
. 4. wragie ot o s wor A SR | 1
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